7~ __ > Quad

816 gyon Nulti-Axis Il

sror7s  Pedestal Mount
Rod Holders

Parts List
RH04357

Detail No. Description Qty. Order By Part No.
1 1/2-20 x 2 in. HHCS Bolts 4 2351
2 1/2 in. Lock Washers 4 2241
3 Tube w/ Cap & Plugs 4 51121
4 1/2 x 2-1/2 in. Pivot Pins 4 55555
5 | Multi-Set Barrel Springs 4 2600
6 Multi-Set Barrel 4 55551
7 Multi-Set Igloos 4 55550
8 1/4-20 x 3/8 in. Slot Hd Screws 4 2158
9 1/4-20 x 3/4 in. Fl Hd Cap Screws 4 2009
10 | Multi-Axis Il Base Upper Half 4 60024
11 Locator Pins 8 242166
12 [1/4-20 x 3/4 in. SS SHC Screws 8 2002
13 | Multi-Axis Il Base Lower Half 4 60023
14 [Spring 4 2600
15 |[1/2 x 3/8-16 x 1 in. SS Shoulder Bolt 4 2147
16 [1/4-20 x 1/4 in. Set Screws 8 2261
17 | Multi-Axis Base Plate 4 60025
18 |1/4-20 x 1 in. Flat Head Screws 8 2009
19 |20-1/2 in. Track 1 54035
20 |[5/16-18 x 3/4 in. Flat Head Screws 2 2371
21 Upright 1 55600
22 [1/4-20 x 3/4 in. Hex Head Screws 4 2017
23 |4 x 4 in. Stanchion Plate 1 51229
24 |4 x4in. 8 Hole Mounting Plate 1 MP5004
25 |[5/16-18 x 1 in. Flat Head Screws 2 2003
26 |1/8 in. Allen Wrench 1 2260

Big Jon Sports, Inc. ® 11455 US-31 e Interlochen, Ml 49643
(231) 275-1010 @ Fax: (231) 275-1009 ® email: emailus@bigjon.com ® website: www.bigjon.com

Rev. No. 5 Revised: 9/7/16 By: PRL




